

About the Canadian Taxpayers Federation

The Canadian Taxpayers Federation is a federally incorporated, not-for-profit citizen's group dedicated to lower taxes, less waste and more accountable government. The CTF was founded in Saskatchewan in 1990 when the Association of Saskatchewan Taxpayers and the Resolution One Association of Alberta joined forces to create a national organization. Today, the CTF has over 235,000 supporters nation-wide.

The CTF maintains a federal office in Ottawa and regional offices in British Columbia, Alberta, the Prairies (SK and MB), Ontario, Quebec and Atlantic Canada. Regional offices conduct research and advocacy activities specific to their provinces in addition to acting as regional organizers of national initiatives.

CTF offices field hundreds of media interviews each month, hold press conferences and issue regular news releases, commentaries, online postings and publications to advocate on behalf of CTF supporters. CTF representatives speak at functions, make presentations to government, meet with politicians, and organize petition drives, events and campaigns to mobilize citizens to affect public policy change. Each week CTF offices send out *Let's Talk Taxes* commentaries to more than 800 media outlets and personalities across Canada.

Any Canadian taxpayer committed to the CTF's mission is welcome to join at no cost and receive action updates. Financial supporters can additionally receive the CTF's flagship publication *The Taxpayer* magazine published three times a year.

The CTF is independent of any institutional or partisan affiliations. All CTF staff, board and representatives are prohibited from holding a membership in any political party. In 2019-20, the CTF raised \$4.8 million on the strength of 31,655 donations. Donations to the CTF are not deductible as a charitable contribution.





Executive Summary and Recommendations

The Canadian Taxpayers Federation collected and analyzed annual financial data for Saskatchewan municipalities. This report looks at how much municipalities in Saskatchewan, both urban and rural, have been spending per-person annually over the last several years. It also looks at the level of accountability municipalities are providing and identifies opportunities to strengthen transparency.

The Canadian Taxpayers Federation is calling on the Saskatchewan government to improve financial transparency and publish the audited financial statements of municipalities. The province can easily host a web portal where the public can access municipal financial documents (i.e. audited financial statements, tax rate bylaws, etc.).

The Canadian Taxpayers Federation discovered that many Saskatchewan municipalities do not publicly post audited financial statements online, and did not respond to requests in writing or by phone for their annual financial statements. Some simply refused to provide the financial statements when asked unless an access to information request was filed.

In Saskatchewan, municipalities are required by law to provide these documents to the Ministry of Government Relations to ensure compliance, so there is no reason for the provincial government to not publish these documents online.

The Government of Alberta has an excellent web portal where the public can access municipal financial documents, such as audited financial statements or tax rate bylaws. The Government of Ontario also has a similar platform. Further, First Nations communities across Canada annually disclose their financial statements and the federal government publishes them online.

The Ministry of Government Relations used to have a version of an online portal, called the Municipal Financial Information

Reporting System, but it was shut down. Lori Carr, former minister of government relations, said in 2019 that a new version of the municipal web portal would soon be available, but more than a year later nothing has been published.

Our research suggests many municipalities, especially smaller ones, have limited administration and technology resources that make it a struggle to publicly post financial documents. While improvements need to be made, this is another reason for the Saskatchewan government to step up to the plate and publish municipal financial documents, in line with First Nations communities and other provinces.

Taxpayers across Saskatchewan deserve to know how their municipal leaders are spending their taxes, and they deserve to know how much other municipalities are spending in comparison.

Overall, in our analysis based on available data, the municipalities spent an average of about \$3,053 per person annually over the past three years. Per-person spending increased overall over the past three fiscal years. On average, rural municipalities spent the most per-person, with RMs spending an average of \$4,621 per-person in 2019, while towns in Saskatchewan spent the least on average, spending an average of only \$2,164 per person in 2019.

We also found that a number of individual RMs spend substantially more per person than other municipalities in Saskatchewan, with two RMs spending more than \$17,000 per person in 2019: the RM of Heart's Hill, No. 352, and the RM of Oakdale, No.320. On the other hand, the lowest-spending municipality in the province was also an RM, with the RM of Lake Lenore spending only \$740 per person in 2018.

The report uses annual financial statements¹ from municipalities and available population data.²

¹ Based on audited financial statements collected by the Canadian Taxpayers Federation. This was done by searching the websites of local municipalities or contacting local municipalities or contacting local municipalities add not respond to our requests for annual financial statements, either by email or phone. We asked the Ministry of Government Relations to provide us with financial statements for municipalities, but it declined.

² Based on 2016 census data, unless a municipality otherwise stated its annual population in public documents (i.e. Annual Reports)



Analysis: Annual per-person spending in Saskatchewan municipalities

Saskatoon and Regina

As the two largest cities in Saskatchewan, Saskatoon and Regina were the first municipalities that the CTF looked at in terms of per-person spending. In contrast to other municipalities in Saskatchewan, we looked at the per-person growth over the past five fiscal years.

On a per-person basis, Regina increased spending between 2015 and 2019 by almost 23 per cent, while Saskatoon's per-person spending increased only seven per cent. However, Saskatoon still spends more per person than Regina. When combined, average annual per-person spending between the two cities increased each year from 2015 and 2019, from \$2,508 per person in 2015, up to \$2,871 per-per person in 2019, a 14 per cent increase.

In terms of posting financial information, both Saskatoon and Regina are transparent and are commended for that. Recent annual reports that include audited financial statements were easy to find on both city's websites.

Year	City	Total expenses	Population	Spending per person
2019	Regina	\$663,831,000	239,989	\$2,766
2018	Regina	\$599,051,000	236,003	\$2,538
2017	Regina	\$578,894,000	230,725	\$2,509
2016	Regina	\$557,410,000	224,898	\$2,479
2015	Regina	\$487,521,000	219,555	\$2,221
2019	Saskatoon	\$819,556,000	275,242	\$2,978
2018	Saskatoon	\$804,016,000	268,188	\$2,998
2017	Saskatoon	\$766,739,000	273,010	\$2,808
2016	Saskatoon	\$705,566,000	265,900	\$2,653
2015	Saskatoon	\$735,262,000	262,900	\$2,797

Medium and Small Cities (All)

Looking at cities outside of Regina and Saskatoon, Swift Current spent the most per person. In 2019, Swift Current spent almost \$1,000 more per person compared to the next closest city, Yorkton. Warman and Martensville were consistently the two lowest spending cities in the province.

Amongst all medium and small-sized cities, the annual spending average was \$2,482 per person in 2019, \$2,442 per person in 2018, and up from \$2,379 per person in 2017 - an increase of less than five per cent.

The Canadian Taxpayers Federation contacted the City of Swift Current to determine why it was spending significantly more than other cities, including almost \$1,000 more than the City of Yorkton in 2019; however, we did not receive a response before publication.

In terms of financial transparency, almost all of these cities post recent audited financial statements that are easily found on their websites. Cities of Warman and Humboldt had posted audited financial statements online, but beyond 2018 they were not easily found.

Year	City	Total expenses	Population	Spending per person
2019	Swift Current	\$61,735,464	16,604	\$3,718
2019	Yorkton	\$45,184,465	16,343	\$2,765
2019	Estevan	\$31,537,430	11,483	\$2,746
2019	North Battleford	\$39,109,676	14,315	\$2,732
2019	Weyburn	\$29,640,800	10,870	\$2,727



Towns³

Based on the financial information that we were able to analyze, the average spending among towns in Saskatchewan was \$2,164 per person in 2019. The Town of Kerrobert spent the most per person in 2019, spending \$3,037, with the Town of Naicam following closely at \$2,885 per person.

The towns that spent the least over each of the past three fiscal years were Rocanville, Asquith, and St. Brieux.

The following towns have been noted by the Canadian Taxpayers Federation for their proactiveness and financial transparency: Town of White City, Town of Hafford, Town of Rosthern, and the Town of Gull Lake.

Here are the five Towns in Saskatchewan that spent the most per-person in 2019					
Town	Total expenses	Population	Spending per person		
Kerrobert	\$3,116,730	1,026	\$3,038		
Naicam	\$1,907,439	661	\$2,886		
Spiritwood	\$2,550,078	913	\$2,793		
Leader	\$2,342,327	863	\$2,714		
Carnduff	\$2,955,709	1,099	\$2,689		

Here are the five Towns in Saskatchewan that spent the least per-person in 2019					
Town	Total expenses	Population	Spending per person		
Asquith	\$896,344	639	\$1,403		
Springside	\$835,379	502	\$1,664		
Lanigan	\$2,319,892	1,377	\$1,685		
Hafford	\$687,272	407	\$1,689		
Esterhazy	\$4,286,895	2,502	\$1,713		

Rural Municipalities⁴

Based on the RMs we analyzed, the average amount spent in 2019 was \$4,620 per person, which was actually down from the average of \$4,705 in 2017, but still significantly higher compared to the average for other municipalities.

Two rural municipalities spent substantially more than others, with the RM of Heart's Hill, No. 352, and RM of Oakdale, No. 302, both spending more than \$17,000 per person in 2019. They were both the two biggest spenders among RMs in 2018, as well, when they both spent nearly \$16,000 per person. When contacted, both of these RMs noted road maintenance as one of the reasons for their high spending.

Based on available data, the lowest spending RMs were the RM of Lake Lenore, No. 399, and the RM of Rosthern, No. 403.

We would like to especially commend the following RM administrators for their transparency and assistance over the course of our work: Adam Tittemore, Administrator for the RM of Corman Park; Lee Torrance, Administrator for the RM of Eldon; Jeanette Kerr, Administrator for the RM of Gull Lake; and the staff at the RM of Frenchman Butte.

Here are the five Rural Municipalities that spent the most per-person in 2019						
Name Total expenses Population Spending per person						
Heart's Hill	\$4,352,488	244	\$17,838			
Oakdale	\$4,372,832	253	\$17,284			
Browning	\$4,315,139	375	\$11,507			
Turtle River	\$3,825,580	344	\$11,121			
Eldon	\$8,162,231	750	\$10,883			

^{3.} From available data.

^{4.} From available data.



Here are the five Rural Municipalities that spent the least per-person in 2019					
Name Total expenses Population Spendi					
Cana	\$1,153,847.00	867	\$1,331		
South Qu'Appelle	\$1,572,793.00	1,275	\$1,234		
Duck Lake	\$1,132,595.00	1,004	\$1,128		
Dundurn	\$2,605,560.00	2,404	\$1,084		
Lake Lenore	\$490,971.00	587	\$836		

Year	Resort village	Total expenses
2019	Candle Lake	\$ 2,865,691
2019	District of Katepwa	\$ 1,475,963
2019	Cochin	\$ 1,061,963
2019	Shields	\$678,099
2019	Aquadeo	\$532,073

Resort Villages⁵

Due to dramatic population fluctuation in many resort villages, we did not calculate per person spending for these municipalities, as census population data wouldn't reflect the true number of people resort villages often accommodate in the summer months. Instead, we have listed below the five Resort Village municipalities that overall had the highest expenses in 2019.

The Canadian Taxpayers Federation would like to note that despite low population, a majority of Resort Villages do publish their annual financial statements online, and those that do so should be recognized for their transparency.

Villages and Northern Municipalities

Due to a small sample size of available data, the CTF was unable to reliably report the annual spending in Saskatchewan's villages and northern municipalities.

Praise for helpful municipalities

Over the course of this report, the CTF emailed and spoke on the phone with hundreds of municipalities in order to obtain public information that's not posted online and file access to information requests. Overall, administrators and staff that we were in contact were helpful and forthright in their efforts to provide information we requested. We would again like to acknowledge that the administrators and staff in many Saskatchewan municipalities face technology and internet challenges.

To reiterate once again, in line with other provinces and First Nations communities, we are calling on the Saskatchewan government to increase financial transparency for municipalities and launch a web portal as soon as possible where financial documents from municipalities can be accessed by the public.

^{3.} From available data.



Index

Regina & Saskatoon 2015				
City Total expenses Population Spending per person				
Regina	\$487,521,000	219,555	\$2,220	
Saskatoon	262,900	\$2,797		
	Avg:	\$2,509		

Regina & Saskatoon 2016					
City Total expenses Population Spending per person					
Regina	\$557,410,000	224,898	\$2,479		
Saskatoon	265,900	\$2,654			
	Avg:	\$2,566			

Regina & Saskatoon 2017					
City Total expenses Population Spending per person					
Regina	\$578,894,000	230,725	\$2,509		
Saskatoon	273,010	\$2,808			
	Avg:	\$2,659			

Regina & Saskatoon 2018					
City Total expenses Population Spending per person					
Regina	\$599,051,000	236,003	\$2,538		
Saskatoon	275,242	\$2,978			
	Avg:	\$2,758			

Regina & Saskatoon 2019					
City Total expenses Population Spending per person					
Regina	\$663,831,000	239,989	\$2,766		
Saskatoon	275,242	\$2,978			
	Avg:	\$2,872			

Medium Cities 2017			
City	Total expenses	Population	Spending per person
Swift Current	\$57,313,209	16,604	\$3,452
North Battleford	\$41,431,835	13,888	\$2,983
Estevan	\$31,030,403	11,258	\$2,756
Prince Albert	\$93,382,857	35,926	\$2,599
Yorkton	\$41,234,063	16,343	\$2,523
Humboldt	\$13,809,174	5,869	\$2,353
Moose Jaw	\$73,230,106	33,890	\$2,161
Melville	\$9,653,981	4,562	\$2,116
Melfort	\$12,172,255	5,992	\$2,031
Meadow Lake	\$10,513,566	5,344	\$1,967
Weyburn	\$20,580,831	10,870	\$1,893
Warman	\$19,015,494	11,020	\$1,726
Martensville	\$16,532,985	9,645	\$1,714
		Avg:	\$2,379.16

Medium Cities 2018			
City	Total expenses	Population	Spending per person
Swift Current	\$58,851,874	16,604	\$3,544
North Battleford	\$40,938,399	13,888	\$2,948
Estevan	\$31,087,937	11,258	\$2,761
Moose Jaw	\$92,982,304	33,890	\$2,744
Yorkton	\$43,328,943	16,343	\$2,651
Prince Albert	\$92,043,602	35,926	\$2,562
Humboldt	\$13,867,760	5,869	\$2,363
Melfort	\$13,267,376	5,992	\$2,214
Weyburn	\$23,948,996	10,870	\$2,203
Meadow Lake	\$11,491,753	5,344	\$2,150
Melville	\$9,342,747	4,562	\$2,048
Martensville	\$17,216,922	9,645	\$1,785
Warman	\$19,650,893	11,020	\$1,783
		Avg:	\$2,443



Medium Cities 2019			
City	Total expenses	Population	Spending per person
Swift Current	\$61,735,464	16,604	\$3,718
Yorkton	\$45,184,465	16,343	\$2,765
Estevan	\$31,537,430	11,483	\$2,746
North Battleford	\$39,109,676	14,315	\$2,732
Weyburn	\$29,640,800	10,870	\$2,727
Prince Albert	\$90,945,964	35,926	\$2,531
Humboldt	\$14,449,634	5,869	\$2,462
Melfort	\$14,043,350	5,992	\$2,344
Melville	\$10,309,827	4,562	\$2,260
Moose Jaw	\$74,607,111	33,890	\$2,201
Meadow Lake	\$11,258,513	5,344	\$2,107
Martensville	\$17,834,925	9,645	\$1,849
Warman	\$20,159,427	11,020	\$1,829
		Avg:	\$2,482.47

Towns 2017			
Town	Total expenses	Population	Spending per person
Bengough	\$3,356,920	1,026	\$3,272
Broadview	\$1,458,125	449	\$3,247
Norquay	\$7,832,447	2,451	\$3,196
Hanley	\$3,204,191	1,083	\$2,959
Hudson Bay	\$1,470,884	499	\$2,948
Cupar	\$2,497,303	863	\$2,894
Nokomis	\$774,928	282	\$2,748
Bienfait	\$12,265,122	4,597	\$2,668
Redvers	\$2,406,926	913	\$2,636
Hepburn	\$2,788,794	1,061	\$2,628
Fleming	\$5,349,548	2,084	\$2,567
Nipawin	\$1,583,549	622	\$2,546
Saltcoats	\$1,632,903	649	\$2,516
Battleford	\$2,074,414	834	\$2,487
Gull Lake	\$1,643,966	661	\$2,487
Rose Valley	\$3,551,390	1,436	\$2,473
Kipling	\$1,498,638	643	\$2,331
Biggar	\$5,493,470	2,389	\$2,299
Cut Knife	\$2,603,499	1,141	\$2,282
Sturgis	\$2,889,103	1,288	\$2,243
Shaunavon	\$2,260,187	1,033	\$2,188

1	owns 2017 Continue	ed	
Birch Hills	\$981,881	451	\$2,177
Lampman	\$1,463,954	675	\$2,169
Bruno	\$4,335,524	2,027	\$2,139
Balcarres	\$4,036,256	1,898	\$2,127
White City	\$784,064	369	\$2,125
Ogema	\$3,485,457	1,688	\$2,065
Imperial	\$1,404,888	688	\$2,042
Aberdeen	\$723,078	360	\$2,009
Bredenbury	\$2,132,318	1,074	\$1,985
Herbert	\$8,695,406	4,401	\$1,976
Rouleau	\$763,202	387	\$1,972
Shellbrook	\$2,948,564	1,508	\$1,955
Carlyle	\$1,902,185	973	\$1,955
Leroy	\$1,665,736	862	\$1,932
Central Butte	\$2,241,464	1,165	\$1,924
Qu'Appelle	\$2,775,842	1,444	\$1,922
Fort Qu'Appelle	\$3,318,678	1,745	\$1,902
Leader	\$741,459	392	\$1,891
Arcola	\$4,673,032	2,502	\$1,868
Carnduff	\$2,035,995	1,099	\$1,853
Moosomin	\$1,203,348	657	\$1,832
Lafleche	\$4,151,726	2,279	\$1,822
Star City	\$929,725	511	\$1,819
Rockglen	\$1,251,250	689	\$1,816
Carrot River	\$3,262,703	1,826	\$1,787
Asquith	\$1,813,227	1,046	\$1,733
Watson	\$5,315,744	3,099	\$1,715
Maidstone	\$839,591	514	\$1,633
Wadena	\$3,261,132	2,024	\$1,611
Springside	\$655,370	407	\$1,610
Kyle	\$1,981,785	1,237	\$1,602
Lampman	\$2,104,963	1,328	\$1,585
Allan	\$1,107,377	701	\$1,580
Scott	\$1,241,921	800	\$1,552
Choiceland	\$2,319,458	1,496	\$1,550
Dundurn	\$2,783,913	1,824	\$1,526
St. Walburg	\$3,865,393	2,573	\$1,502
Assiniboia	\$893,430	639	\$1,398
Wolseley	\$1,126,725	854	\$1,319
Turtleford	\$1,382,075	1,213	\$1,139
Rocanville	\$670,299	667	\$1,005
		Avg:	\$2,076.49

Towns 2017 Continued

2017 continued next column



Towns 2018			
Town	Total expenses	Population	Spending per person
Kyle	\$1,387,164	449	\$3,089
Aberdeen	\$1,843,934	622	\$2,965
Rosetown	\$7,187,161	2,451	\$2,932
Stoughton	\$1,867,679	649	\$2,878
Elrose	\$1,400,237	496	\$2,823
Kerrobert	\$2,816,776	1,026	\$2,745
Eston	\$2,894,743	1,061	\$2,728
Spiritwood	\$2,487,088	913	\$2,724
Naicam	\$1,758,634	661	\$2,661
Leader	\$2,277,028	863	\$2,639
Blaine Lake	\$1,300,088	499	\$2,605
Cut Knife	\$1,475,921	573	\$2,576
Hudson Bay	\$3,695,915	1,436	\$2,574
Rose Valley	\$725,165	282	\$2,572
Lampman	\$1,630,333	675	\$2,415
Assiniboia	\$5,733,408	2,389	\$2,400
St. Walburg	\$1,625,957	689	\$2,360
Foam Lake	\$2,690,886	1,141	\$2,358
Coronach	\$1,508,984	643	\$2,347
Wakaw	\$2,116,535	922	\$2,296
Outlook	\$5,180,807	2,279	\$2,273
Birch Hills	\$2,345,118	1,033	\$2,270
Colonsay	\$990,570	451	\$2,196
Shaunavon	\$3,733,506	1,714	\$2,178
Kamsack	\$4,133,406	1,898	\$2,178
Rosthern	\$3,632,966	1,688	\$2,152
Wadena	\$2,770,616	1,288	\$2,151
Carlyle	\$3,206,972	1,508	\$2,127
Nipawin	\$9,252,934	4,401	\$2,102
Carnduff	\$2,289,301	1,099	\$2,083
Moosomin	\$5,704,930	2,743	\$2,080
Carrot River	\$2,019,867	973	\$2,076
Imperial	\$743,776	360	\$2,066
Craik	\$809,746	392	\$2,066
Fort Qu'Appelle	\$4,181,484	2,027	\$2,063
Langenburg	\$2,393,781	1,165	\$2,055
Balgonie	\$3,539,553	1,745	\$2,028
White City	\$6,268,094	3,099	\$2,023

ī	owns 2018 Continue	ed	
Kipling	\$2,159,351	1,074	\$2,011
Hague	\$1,756,667	874	\$2,010
Biggar	\$4,425,051	2,226	\$1,988
Kelvington	\$1,648,493	834	\$1,977
Pilot Butte	\$4,198,482	2,137	\$1,965
Shellbrook	\$2,738,546	1,444	\$1,897
Oxbow	\$2,494,617	1,328	\$1,878
Hepburn	\$1,285,335	688	\$1,868
Dalmeny	\$3,407,643	1,826	\$1,866
Watrous	\$3,541,449	1,900	\$1,864
Hanley	\$950,314	511	\$1,860
Bruno	\$1,131,157	611	\$1,851
Star City	\$713,302	387	\$1,843
Alameda	\$675,925	369	\$1,832
Canora	\$3,675,657	2,024	\$1,816
Duck Lake	\$1,027,272	569	\$1,805
Ituna	\$1,256,410	701	\$1,792
Lanigan	\$2,467,037	1,377	\$1,792
Osler	\$2,191,830	1,237	\$1,772
Unity	\$4,540,872	2,573	\$1,765
Strasbourg	\$1,409,675	800	\$1,762
Wilkie	\$2,080,133	1,219	\$1,706
Esterhazy	\$4,267,100	2,502	\$1,705
Gull Lake	\$1,767,850	1,046	\$1,690
Hafford	\$682,586	407	\$1,677
Langham	\$2,455,731	1,496	\$1,642
Lumsden	\$2,992,459	1,824	\$1,641
Arcola	\$1,076,544	657	\$1,639
Springside	\$821,581	502	\$1,637
Radisson	\$772,091	514	\$1,502
Asquith	\$870,996	639	\$1,363
St. Brieux	\$827,100	667	\$1,240
		Avg:	\$2,107



	Towns 2019			
Town	Total expenses	Population	Spending per person	
Kerrobert	\$3,116,730	1,026	\$3,038	
Naicam	\$1,907,439	661	\$2,886	
Spiritwood	\$2,550,078	913	\$2,793	
Elrose	\$1,374,679	496	\$2,772	
Leader	\$2,342,327	863	\$2,714	
Carnduff	\$2,955,709	1,099	\$2,689	
Hudson Bay	\$3,769,109	1,436	\$2,625	
Rosetown	\$6,424,077	2,451	\$2,621	
Stoughton	\$1,657,372	649	\$2,554	
Coronach	\$1,598,103	643	\$2,485	
Rose Valley	\$682,292	282	\$2,419	
Wadena	\$3,084,119	1,288	\$2,395	
Blaine Lake	\$1,191,988	499	\$2,389	
Birch Hills	\$2,465,611	1,033	\$2,387	
Cut Knife	\$1,353,703	573	\$2,362	
Lampman	\$1,558,801	675	\$2,309	
Assiniboia	\$5,502,964	2,389	\$2,303	
Rosthern	\$3,860,660	1,688	\$2,287	
Arcola	\$1,496,254	657	\$2,277	
Kipling	\$2,443,557	1,074	\$2,275	
Shaunavon	\$3,858,251	1,714	\$2,251	
Colonsay	\$1,011,370	451	\$2,243	
Wakaw	\$2,029,461	922	\$2,201	
Moosomin	\$5,992,516	2,743	\$2,185	
Biggar	\$4,836,247	2,226	\$2,173	
Ituna	\$1,519,912	701	\$2,168	
Carrot River	\$2,095,000	973	\$2,153	
Balgonie	\$3,753,094	1,745	\$2,151	
Kamsack	\$4,059,296	1,898	\$2,139	
Nipawin	\$9,403,557	4,401	\$2,137	
White City	\$6,594,501	3,099	\$2,128	
Fort Qu'Appelle	\$4,311,241	2,027	\$2,127	
Bruno	\$1,296,958	611	\$2,123	
Shellbrook	\$3,062,931	1,444	\$2,121	
Pilot Butte	\$4,498,096	2,137	\$2,105	
Hague	\$1,810,978	874	\$2,072	
Oxbow	\$2,725,095	1,328	\$2,052	
Craik	\$802,771	392	\$2,048	

Т	owns 2019 Continue	ed	
Watrous	\$3,873,598	1,900	\$2,039
Imperial	\$731,697	360	\$2,032
Dalmeny	\$3,687,530	1,826	\$2,019
Hepburn	\$1,375,444	688	\$1,999
Duck Lake	\$1,132,595	569	\$1,991
Star City	\$765,678	387	\$1,978
Kelvington	\$1,609,805	834	\$1,930
Hanley	\$984,845	511	\$1,927
Carlyle	\$2,839,894	1,508	\$1,883
Canora	\$3,764,411	2,024	\$1,860
Outlook	\$4,236,246	2,279	\$1,859
Wilkie	\$2,207,905	1,219	\$1,811
Lumsden	\$3,250,266	1,824	\$1,782
Radisson	\$913,355	514	\$1,777
Osler	\$2,183,358	1,237	\$1,765
Langham	\$2,630,306	1,496	\$1,758
Esterhazy	\$4,286,895	2,502	\$1,713
Hafford	\$687,272	407	\$1,689
Lanigan	\$2,319,892	1,377	\$1,685
Springside	\$835,379	502	\$1,664
Asquith	\$896,344	639	\$1,403
		Avg:	\$2,165



Rural Municipalities 2017			
Rural Municipality	Total expenses	Population	Spending per person
Oakdale	\$4,238,749.00	253	\$16,754
Heart's Hill	\$3,980,030.00	244	\$16,312
Browning	\$4,315,139.00	375	\$11,507
Eldon	\$8,570,673.00	750	\$11,428
Winslow	\$3,807,545.00	344	\$11,068
Tecumseh	\$2,894,868.00	271	\$10,682
Happyland	\$2,460,726.00	249	\$9,882
Senlac	\$2,022,402.00	216	\$9,363
Reciprocity	\$3,142,785.00	344	\$9,136
Wilton	\$14,628,479.00	1,629	\$8,980
Antelope Park	\$1,151,749.00	130	\$8,860
Lomond	\$2,554,922.00	296	\$8,631
Turtle River	\$2,905,026.00	344	\$8,445
Milton	\$2,241,886.00	266	\$8,428
Brock	\$2,190,761.00	267	\$8,205
Coalfields	\$2,863,973.00	368	\$7,783
Souris Valley	\$1,914,934.00	249	\$7,690
Hillsdale	\$4,246,751.00	553	\$7,679
Craik	\$1,937,210.00	259	\$7,480
Gull Lake	\$1,463,189.00	201	\$7,280
Monet	\$3,235,394.00	446	\$7,254
Fox Valley	\$2,378,324.00	330	\$7,207
Filmore	\$1,534,906.00	223	\$6,883
Indian Head	\$2,272,551.00	336	\$6,764
Lacadena	\$3,596,631.00	535	\$6,723
White Valley	\$3,167,383.00	478	\$6,626
Sherwood	\$6,263,441.00	974	\$6,431
Spy Hill	\$2,054,503.00	323	\$6,361
Fertile Belt	\$4,787,079.00	781	\$6,129
Cambria	\$1,776,477.00	309	\$5,749
Pense	\$2,876,395.00	508	\$5,662
Reford	\$1,406,498.00	257	\$5,473
Manitou Lake	\$3,134,946.00	573	\$5,471
Arm River	\$1,366,999.00	250	\$5,468
Willner	\$1,381,860.00	255	\$5,419
Chesterfield	\$2,566,715.00	481	\$5,336

Rural Municipalities 2017 Continued			
Storthoaks	\$1,496,791.00	292	\$5,126
Blaine Lake	\$1,470,884.00	291	\$5,055
Hoodoo	\$3,367,035.00	675	\$4,988
Laurier	\$1,453,511.00	296	\$4,911
Enniskillen	\$2,238,213.00	459	\$4,876
Brittania	\$10,495,573.00	2,153	\$4,875
Lake Johnston	\$820,487.00	170	\$4,826
Mount Pleasant	\$1,987,370.00	414	\$4,800
Viscount	\$1,607,682.00	338	\$4,756
Big Arm	\$901,175.00	191	\$4,718
Lonetree	\$702,027.00	150	\$4,680
Benson	\$2,186,416.00	472	\$4,632
Harris	\$881,096.00	193	\$4,565
Lakeview	\$1,675,611.00	368	\$4,553
Golden West	\$1,322,377.00	291	\$4,544
Elcapo	\$2,179,676.00	488	\$4,467
Colonsay	\$1,200,193.00	269	\$4,462
Canaan	\$623,677.00	140	\$4,455
Glen Bain	\$799,585.00	180	\$4,442
Mervin	\$5,550,397.00	1,256	\$4,419
Kindersley	\$4,589,116.00	1,049	\$4,375
Arlington	\$1,590,935.00	366	\$4,347
Silverwood	\$1,683,154.00	410	\$4,105
Buffalo	\$2,067,731.00	506	\$4,086
Dufferin	\$2,239,313.00	559	\$4,006
Wellington	\$1,411,633.00	371	\$3,805
Last Mountain Valley	\$1,018,955.00	275	\$3,705
Milden	\$1,204,563.00	327	\$3,684
Frenchman Butte	\$5,479,216.00	1,494	\$3,667
St. Andrews	\$1,829,816.00	522	\$3,505
Clayton	\$2,039,953.00	592	\$3,446
Redberry	\$1,170,014.00	342	\$3,421
Caledonia	\$833,932.00	245	\$3,404
Lake of the Rivers	\$946,638.00	279	\$3,393
Montmarte	\$1,637,415.00	483	\$3,390
Loon Lake	\$2,479,987.00	756	\$3,280
Kinistino	\$1,792,456.00	554	\$3,235
Stonehenge	\$1,198,998.00	380	\$3,155



Rural M	lunicipalities 2017 Co	ontinued	
Estevan	\$4,317,778.00	1,370	\$3,152
Glenside	\$749,719.00	248	\$3,023
Francis	\$1,997,496.00	674	\$2,964
Douglas	\$1,019,755.00	350	\$2,914
District of Lakeland	\$2,664,790.00	915	\$2,912
St. Louis	\$3,116,209.00	1,086	\$2,869
Calder	\$1,045,654.00	370	\$2,826
Webb	\$1,488,637.00	541	\$2,752
Grandview	\$930,099.00	348	\$2,673
Canwood	\$3,685,655.00	1,381	\$2,669
Pleasantdale	\$1,582,884.00	596	\$2,656
Wise Creek	\$544,296.00	205	\$2,655
Bayne	\$1,236,813.00	467	\$2,648
Torch River	\$3,886,041.00	1,471	\$2,642
Victory	\$1,001,058.00	380	\$2,634
Saskatchewan Landing	\$1,067,240.00	415	\$2,572
Meota	\$2,329,759.00	933	\$2,497
Bjorkdale	\$2,076,875.00	851	\$2,441
Auvergne	\$994,940.00	412	\$2,415
Spiritwood	\$3,082,299.00	1,306	\$2,360
Graveelbourug	\$875,079.00	372	\$2,352
Great Bend	\$1,185,864.00	509	\$2,330
Stanley	\$1,166,337.00	505	\$2,310
Weyburn	\$2,418,399.00	1,064	\$2,273
Barrier Valley	\$884,477.00	431	\$2,052
Beaver River	\$2,473,633.00	1,216	\$2,034
Lac Pelletier	\$1,104,425.00	546	\$2,023
North Qu'Appelle	\$1,708,946.00	855	\$1,999
Caron	\$1,138,014.00	576	\$1,976
Shellbrook	\$3,009,979.00	1,587	\$1,897
Big River	\$1,589,246.00	889	\$1,788
Longlaketon	\$1,805,714.00	1,016	\$1,777
Lajord	\$2,138,474.00	1,232	\$1,736
Birch Hills	\$1,127,176.00	656	\$1,718
Corman Park	\$14,489,732.00	8,568	\$1,691
Blucher	\$3,365,437.00	2,006	\$1,678
Edenwold	\$7,136,460.00	4,490	\$1,589
Meadow Lake	\$3,903,429.00	2,501	\$1,561
Swift Current	\$2,860,862.00	1,932	\$1,481
South Qu'Appelle	\$1,807,669.00	1,275	\$1,418
Aberdeen	\$1,911,281.00	1,379	\$1,386

Rural Municipalities 2017 Continued			
Vanscoy	\$3,730,494.00	2,840	\$1,314
Rosthern	\$2,669,250.00	2,300	\$1,161
,		Avg:	\$4,705

Rural	Municipalitie	es 2018	
Rural Municipality	Total expenses	Population	Spending per person
Oakdale	\$4,041,232.00	253	\$15,973
Heart's Hill	\$3,820,591.00	244	\$15,658
Browning	\$4,397,011.00	375	\$11,725
Tecumseh	\$2,849,081.00	271	\$10,513
Milton	\$2,716,425.00	266	\$10,212
Eldon	\$7,596,334.00	750	\$10,128
Senlac	\$2,184,615.00	216	\$10,114
Wilton	\$15,711,387.00	1,629	\$9,645
Brock	\$2,503,827.00	267	\$9,378
Turtle River	\$2,977,380.00	344	\$8,655
Souris Valley	\$2,140,586.00	249	\$8,597
Lomond	\$2,498,778.00	296	\$8,442
Craik	\$2,093,236.00	259	\$8,082
Hillsdale	\$4,331,150.00	553	\$7,832
Leroy	\$3,888,172.00	502	\$7,745
Antelope Park	\$1,003,514.00	130	\$7,719
Winslow	\$2,655,192.00	344	\$7,719
Gull Lake	\$1,520,731.00	201	\$7,566
Reciprocity	\$2,541,858.00	344	\$7,389
Cymri	\$3,856,435.00	549	\$7,024
Coalfields	\$2,504,197.00	368	\$6,805
Cambria	\$2,100,500.00	309	\$6,798
Lacadena	\$3,589,646.00	535	\$6,710
Sherwood	\$6,529,570.00	974	\$6,704
White Valley	\$3,190,261.00	478	\$6,674
Spy Hill	\$2,057,776.00	323	\$6,371
Happyland	\$1,554,632.00	249	\$6,244
Monet	\$2,724,932.00	446	\$6,110
Fox Valley	\$2,010,366.00	330	\$6,092
Manitou Lake	\$3,419,222.00	573	\$5,967
Paynton	\$1,501,097.00	255	\$5,887
Canaan	\$817,082.00	140	\$5,836
Filmore	\$1,297,756.00	223	\$5,820

2017 continued next column 2018 continued next page



Rural M	unicipalities 2018 Co	ontinued	
Moose Creek	\$2,155,738.00	379	\$5,688
Hoodoo	\$3,813,731.00	675	\$5,650
Reford	\$1,437,439.00	257	\$5,593
Enniskillen	\$2,542,274.00	459	\$5,539
Storthoaks	\$1,538,379.00	292	\$5,268
Chesterfield	\$2,532,617.00	481	\$5,265
Arlington	\$1,921,584.00	366	\$5,250
Buffalo	\$2,578,605.00	506	\$5,096
Arm River	\$1,270,768.00	250	\$5,083
St. Louis	\$5,426,364.00	1,086	\$4,997
Kindersley	\$5,191,020.00	1,049	\$4,949
Mount Pleasant	\$2,048,127.00	414	\$4,947
Fertile Belt	\$3,852,236.00	781	\$4,932
Pense	\$2,503,094.00	508	\$4,927
Benson	\$2,290,770.00	472	\$4,853
Fish Creek	\$1,645,123.00	345	\$4,768
Silverwood	\$1,946,858.00	410	\$4,748
Big Arm	\$903,879.00	191	\$4,732
Laurier	\$1,392,459.00	296	\$4,704
Indian Head	\$1,555,504.00	336	\$4,629
Lake Johnston	\$778,188.00	170	\$4,578
Golden West	\$1,330,605.00	291	\$4,573
Martin	\$1,315,871.00	289	\$4,553
Mervin	\$5,696,202.00	1,256	\$4,535
Blaine Lake	\$1,300,088.00	291	\$4,468
Dufferin	\$2,495,256.00	559	\$4,464
Willner	\$1,135,159.00	255	\$4,452
Colonsay	\$1,183,228.00	269	\$4,399
Harris	\$843,432.00	193	\$4,370
Glen Bain	\$783,043.00	180	\$4,350
Viscount	\$1,459,250.00	338	\$4,317
Maryfield	\$1,395,364.00	324	\$4,307
Brittania	\$9,132,132.00	2,153	\$4,242
Lakeview	\$1,529,605.00	368	\$4,157
Kelvington	\$1,648,493.00	398	\$4,142
McKillop	\$3,031,199.00	732	\$4,141
Lonetree	\$609,924.00	150	\$4,066
Cut Knife	\$1,475,921.00	364	\$4,055
Round Hill	\$1,434,119.00	361	\$3,973
Last Mountain Valley	\$1,071,431.00	275	\$3,896
Frenchman Butte	\$5,761,770.00	1,494	\$3,857
Meeting Lake	\$1,215,359.00	319	\$3,810

Rural M	unicipalities 2018 Co	ontinued	
Invergordon	\$2,147,023.00	565	\$3,800
Pleasant Valley	\$1,134,091.00	302	\$3,755
Redberry	\$1,280,192.00	342	\$3,743
McLeod	\$1,332,414.00	365	\$3,650
Miry Creek	\$1,344,266.00	370	\$3,633
Keys	\$1,388,869.00	390	\$3,561
Milden	\$1,160,466.00	327	\$3,549
Connaught	\$2,065,907.00	586	\$3,525
Lake of the Rivers	\$970,575.00	279	\$3,479
Wolverine	\$1,650,852.00	480	\$3,439
Victory	\$1,294,529.00	380	\$3,407
Caledonia	\$819,950.00	245	\$3,347
Stonehenge	\$1,245,925.00	380	\$3,279
Rosedale	\$1,723,180.00	526	\$3,279
Rosemount	\$656,641.00	201	\$3,270
Francis	\$2,151,572.00	674	\$3,207
Webb		541	
	\$1,717,938.00		\$3,175
Kinistino	\$1,737,977.00	554	\$3,137
Bayne	1,463,909	467	\$3,135
Douglas	\$1,096,731.00	350	\$3,134
Estevan	\$4,248,197.00	1,370	\$3,101
Leask	\$2,086,665.00	686	\$3,042
Pleasantdale	\$1,779,255.00	596	\$2,985
Clayton	\$1,762,279.00	592	\$2,977
Glenside	\$738,163.00	248	\$2,976
Grayson	\$1,519,718.00	512	\$2,968
Montmarte	\$1,432,271.00	483	\$2,965
Wellington	\$1,098,450.00	371	\$2,961
District of Lakeland	\$2,683,537.00	915	\$2,933
Wise Creek	\$594,833.00	205	\$2,902
Meota	\$2,707,159.00	933	\$2,902
Calder	\$1,073,023.00	370	\$2,900
Excelsior	\$2,320,520.00	806	\$2,879
Grandview	\$986,236.00	348	\$2,834
Saskatchewan Landing	\$1,174,746.00	415	\$2,831
Bjorkdale	\$2,366,136.00	851	\$2,780
Loon Lake	\$2,098,364.00	756	\$2,776
Moosomin	\$1,668,497.00	603	\$2,767
Lipton	\$1,049,348.00	381	\$2,754
Mariott	\$1,003,181.00	366	\$2,741
Graveelbourug	\$1,019,372.00	372	\$2,740
Canwood	\$3,775,136.00	1,381	\$2,734



Stanley \$1,371,900.00 505 \$2,717 Auvergne \$1,118,593.00 412 \$2,715 Rudy \$1,259,821.00 466 \$2,703 King George \$597,176.00 226 \$2,642 St. Andrews \$1,368,329.00 522 \$2,621 Weyburn \$2,700,086.00 1,064 \$2,538 Moose Range \$2,531,905.00 1,000 \$2,532 Torch River \$3,656,236.00 1,471 \$2,486 Elcapo \$1,193,135.00 488 \$2,445 Good Lake \$1,784,548.00 747 \$2,389 Paidockwood \$2,026,334.00 900 \$2,251 Great Bend \$1,142,335.00 509 \$2,244 North Qu'Appelle \$1,864,774.00 855 \$2,181 Longlaketon \$2,215,623.00 1,016 \$2,181 Barrier Valley \$936,987.00 431 \$2,174 Nipawin \$2,168,750.00 1,004 \$2,160 Caron \$1,239,880.00 5	Rural 1	Municipalities 2018 C	ontinued	
Rudy \$1,259,821.00 466 \$2,703 King George \$597,176.00 226 \$2,642 St. Andrews \$1,368,329.00 522 \$2,621 Weyburn \$2,700,086.00 1,064 \$2,538 Moose Range \$2,531,905.00 1,000 \$2,532 Torch River \$3,656,236.00 1,471 \$2,486 Elcapo \$1,193,135.00 488 \$2,445 Good Lake \$1,784,548.00 747 \$2,389 Spiritwood \$3,108,925.00 1,306 \$2,380 Paddockwood \$2,026,334.00 900 \$2,251 Great Bend \$1,142,335.00 509 \$2,244 North Battleford \$1,583,945.00 725 \$2,185 North Qu'Appelle \$1,864,774.00 855 \$2,181 Longlaketon \$2,215,623.00 1,016 \$2,181 Barrier Valley \$936,987.00 431 \$2,174 Nipawin \$2,168,750.00 1,004 \$2,160 Caron \$1,239,880.00	Stanley	\$1,371,900.00	505	\$2,717
King George \$597,176.00 226 \$2,642 St. Andrews \$1,368,329.00 522 \$2,621 Weyburn \$2,700,086.00 1,064 \$2,538 Moose Range \$2,531,905.00 1,000 \$2,532 Torch River \$3,656,236.00 1,471 \$2,486 Elcapo \$1,193,135.00 488 \$2,445 Good Lake \$1,784,548.00 747 \$2,389 Spiritwood \$3,108,925.00 1,306 \$2,380 Paddockwood \$2,026,334.00 900 \$2,251 Great Bend \$1,142,335.00 509 \$2,244 North Qu'Appelle \$1,864,774.00 855 \$2,185 Longlaketon \$2,215,623.00 1,016 \$2,181 Barrier Valley \$936,987.00 431 \$2,174 Nipawin \$2,168,750.00 1,004 \$2,160 Caron \$1,239,880.00 576 \$2,153 Shellbrook \$3,207,956.00 1,587 \$2,021 Lajord \$2,427,691.00	Auvergne	\$1,118,593.00	412	\$2,715
St. Andrews \$1,368,329.00 522 \$2,621 Weyburn \$2,700,086.00 1,064 \$2,538 Moose Range \$2,531,905.00 1,000 \$2,532 Torch River \$3,656,236.00 1,471 \$2,486 Elcapo \$1,193,135.00 488 \$2,445 Good Lake \$1,784,548.00 747 \$2,389 Spiritwood \$3,108,925.00 1,306 \$2,380 Paddockwood \$2,026,334.00 900 \$2,251 Great Bend \$1,142,335.00 509 \$2,244 North Qu'Appelle \$1,583,945.00 725 \$2,185 North Qu'Appelle \$1,864,774.00 855 \$2,181 Longlaketon \$2,215,623.00 1,016 \$2,181 Barrier Valley \$936,987.00 431 \$2,174 Nipawin \$2,168,750.00 1,004 \$2,160 Caron \$1,239,880.00 576 \$2,153 Shellbrook \$3,207,956.00 1,587 \$2,021 Lajord \$2,427,691.00<	Rudy	\$1,259,821.00	466	\$2,703
Weyburn \$2,700,086.00 1,064 \$2,538 Moose Range \$2,531,905.00 1,000 \$2,532 Torch River \$3,656,236.00 1,471 \$2,486 Elcapo \$1,193,135.00 488 \$2,445 Good Lake \$1,784,548.00 747 \$2,389 Spiritwood \$3,108,925.00 1,306 \$2,380 Paddockwood \$2,026,334.00 900 \$2,251 Great Bend \$1,142,335.00 509 \$2,244 North Battleford \$1,583,945.00 725 \$2,185 North Qu'Appelle \$1,864,774.00 855 \$2,181 Longlaketon \$2,215,623.00 1,016 \$2,181 Barrier Valley \$936,987.00 431 \$2,174 Nipawin \$2,168,750.00 1,004 \$2,160 Caron \$1,239,880.00 576 \$2,153 Shellbrook \$3,207,956.00 1,587 \$2,021 Lajord \$2,427,691.00 1,232 \$1,971 Meadow Lake \$4,872,720.0	King George	\$597,176.00	226	\$2,642
Moose Range \$2,531,905.00 1,000 \$2,532 Torch River \$3,656,236.00 1,471 \$2,486 Elcapo \$1,193,135.00 488 \$2,445 Good Lake \$1,784,548.00 747 \$2,389 Spiritwood \$3,108,925.00 1,306 \$2,380 Paddockwood \$2,026,334.00 900 \$2,251 Great Bend \$1,142,335.00 509 \$2,244 North Qu'Appelle \$1,583,945.00 725 \$2,185 North Qu'Appelle \$1,864,774.00 855 \$2,181 Longlaketon \$2,215,623.00 1,016 \$2,181 Barrier Valley \$936,987.00 431 \$2,174 Nipawin \$2,168,750.00 1,004 \$2,160 Caron \$1,239,880.00 576 \$2,153 Shellbrook \$3,207,956.00 1,587 \$2,021 Lajord \$2,427,691.00 1,232 \$1,971 Meadow Lake \$4,872,720.00 2,501 \$1,948 Beaver River \$2,343,	St. Andrews	\$1,368,329.00	522	\$2,621
Torch River \$3,656,236.00 1,471 \$2,486 Elcapo \$1,193,135.00 488 \$2,445 Good Lake \$1,784,548.00 747 \$2,389 Spiritwood \$3,108,925.00 1,306 \$2,380 Paddockwood \$2,026,334.00 900 \$2,251 Great Bend \$1,142,335.00 509 \$2,244 North Battleford \$1,583,945.00 725 \$2,185 North Qu'Appelle \$1,864,774.00 855 \$2,181 Longlaketon \$2,215,623.00 1,016 \$2,181 Barrier Valley \$936,987.00 431 \$2,174 Nipawin \$2,168,750.00 1,004 \$2,160 Caron \$1,239,880.00 576 \$2,153 Shellbrook \$3,207,956.00 1,587 \$2,021 Lajord \$2,427,691.00 1,232 \$1,971 Meadow Lake \$4,872,720.00 2,501 \$1,948 Beaver River \$2,343,007.00 1,216 \$1,924 Big River \$1,701,18	Weyburn	\$2,700,086.00	1,064	\$2,538
Elcapo \$1,193,135.00 488 \$2,445 Good Lake \$1,784,548.00 747 \$2,389 Spiritwood \$3,108,925.00 1,306 \$2,380 Paddockwood \$2,026,334.00 900 \$2,251 Great Bend \$1,142,335.00 509 \$2,244 North Battleford \$1,583,945.00 725 \$2,185 North Qu'Appelle \$1,864,774.00 855 \$2,181 Longlaketon \$2,215,623.00 1,016 \$2,181 Barrier Valley \$936,987.00 431 \$2,174 Nipawin \$2,168,750.00 1,004 \$2,160 Caron \$1,239,880.00 576 \$2,153 Shellbrook \$3,207,956.00 1,587 \$2,021 Lajord \$2,427,691.00 1,232 \$1,971 Meadow Lake \$4,872,720.00 2,501 \$1,948 Beaver River \$2,343,007.00 1,216 \$1,927 Lac Pelletier \$1,050,320.00 546 \$1,924 Big River \$1,701,187.00 889 \$1,914 Aberdeen \$2,606,766.00 1,379 \$1,890 Corman Park \$15,044,601.00 8,568 \$1,756 Birch Hills \$1,137,579.00 656 \$1,734 Edenwold \$7,772,900.00 4,490 \$1,731 Moose Jaw \$1,825,947.00 1,163 \$1,570 Lumsden \$2,892,587.00 1,938 \$1,493 Montrose \$1,035,025.00 712 \$1,454 Swift Current \$2,790,353.00 1,932 \$1,444 Vanscoy \$3,796,683.00 2,840 \$1,337 Dundurn \$3,101,341.00 2,404 \$1,290	Moose Range	\$2,531,905.00	1,000	\$2,532
Good Lake \$1,784,548.00 747 \$2,389 Spiritwood \$3,108,925.00 1,306 \$2,380 Paddockwood \$2,026,334.00 900 \$2,251 Great Bend \$1,142,335.00 509 \$2,244 North Battleford \$1,583,945.00 725 \$2,185 North Qu'Appelle \$1,864,774.00 855 \$2,181 Longlaketon \$2,215,623.00 1,016 \$2,181 Barrier Valley \$936,987.00 431 \$2,174 Nipawin \$2,168,750.00 1,004 \$2,160 Caron \$1,239,880.00 576 \$2,153 Shellbrook \$3,207,956.00 1,587 \$2,021 Lajord \$2,427,691.00 1,232 \$1,971 Meadow Lake \$4,872,720.00 2,501 \$1,948 Beaver River \$2,343,007.00 1,216 \$1,927 Lac Pelletier \$1,050,320.00 546 \$1,924 Big River \$1,701,187.00 889 \$1,914 Aberdeen \$2,606,	Torch River	\$3,656,236.00	1,471	\$2,486
Spiritwood \$3,108,925.00 1,306 \$2,380 Paddockwood \$2,026,334.00 900 \$2,251 Great Bend \$1,142,335.00 509 \$2,244 North Battleford \$1,583,945.00 725 \$2,185 North Qu'Appelle \$1,864,774.00 855 \$2,181 Longlaketon \$2,215,623.00 1,016 \$2,181 Barrier Valley \$936,987.00 431 \$2,174 Nipawin \$2,168,750.00 1,004 \$2,160 Caron \$1,239,880.00 576 \$2,153 Shellbrook \$3,207,956.00 1,587 \$2,021 Lajord \$2,427,691.00 1,232 \$1,971 Meadow Lake \$4,872,720.00 2,501 \$1,948 Beaver River \$2,343,007.00 1,216 \$1,927 Lac Pelletier \$1,050,320.00 546 \$1,924 Big River \$1,701,187.00 889 \$1,914 Aberdeen \$2,606,766.00 1,379 \$1,890 Corman Park \$1,	Elcapo	\$1,193,135.00	488	\$2,445
Paddockwood \$2,026,334.00 900 \$2,251 Great Bend \$1,142,335.00 509 \$2,244 North Battleford \$1,583,945.00 725 \$2,185 North Qu'Appelle \$1,864,774.00 855 \$2,181 Longlaketon \$2,215,623.00 1,016 \$2,181 Barrier Valley \$936,987.00 431 \$2,174 Nipawin \$2,168,750.00 1,004 \$2,160 Caron \$1,239,880.00 576 \$2,153 Shellbrook \$3,207,956.00 1,587 \$2,021 Lajord \$2,427,691.00 1,232 \$1,971 Meadow Lake \$4,872,720.00 2,501 \$1,948 Beaver River \$2,343,007.00 1,216 \$1,927 Lac Pelletier \$1,050,320.00 546 \$1,924 Big River \$1,701,187.00 889 \$1,914 Aberdeen \$2,606,766.00 1,379 \$1,890 Corman Park \$15,044,601.00 8,568 \$1,756 Birch Hills \$	Good Lake	\$1,784,548.00	747	\$2,389
Great Bend \$1,142,335.00 509 \$2,244 North Battleford \$1,583,945.00 725 \$2,185 North Qu'Appelle \$1,864,774.00 855 \$2,181 Longlaketon \$2,215,623.00 1,016 \$2,181 Barrier Valley \$936,987.00 431 \$2,174 Nipawin \$2,168,750.00 1,004 \$2,160 Caron \$1,239,880.00 576 \$2,153 Shellbrook \$3,207,956.00 1,587 \$2,021 Lajord \$2,427,691.00 1,232 \$1,971 Meadow Lake \$4,872,720.00 2,501 \$1,948 Beaver River \$2,343,007.00 1,216 \$1,927 Lac Pelletier \$1,050,320.00 546 \$1,924 Big River \$1,701,187.00 889 \$1,914 Aberdeen \$2,606,766.00 1,379 \$1,890 Corman Park \$15,044,601.00 8,568 \$1,756 Birch Hills \$1,375,790.00 4,490 \$1,731 Moose Jaw \$	Spiritwood	\$3,108,925.00	1,306	\$2,380
North Battleford \$1,583,945.00 725 \$2,185 North Qu'Appelle \$1,864,774.00 855 \$2,181 Longlaketon \$2,215,623.00 1,016 \$2,181 Barrier Valley \$936,987.00 431 \$2,174 Nipawin \$2,168,750.00 1,004 \$2,160 Caron \$1,239,880.00 576 \$2,153 Shellbrook \$3,207,956.00 1,587 \$2,021 Lajord \$2,427,691.00 1,232 \$1,971 Meadow Lake \$4,872,720.00 2,501 \$1,948 Beaver River \$2,343,007.00 1,216 \$1,927 Lac Pelletier \$1,050,320.00 546 \$1,924 Big River \$1,701,187.00 889 \$1,914 Aberdeen \$2,606,766.00 1,379 \$1,890 Corman Park \$15,044,601.00 8,568 \$1,756 Birch Hills \$1,375,790.00 656 \$1,734 Edenwold \$7,772,900.00 4,490 \$1,731 Moose Jaw \$1,	Paddockwood	\$2,026,334.00	900	\$2,251
North Qu'Appelle \$1,864,774.00 855 \$2,181 Longlaketon \$2,215,623.00 1,016 \$2,181 Barrier Valley \$936,987.00 431 \$2,174 Nipawin \$2,168,750.00 1,004 \$2,160 Caron \$1,239,880.00 576 \$2,153 Shellbrook \$3,207,956.00 1,587 \$2,021 Lajord \$2,427,691.00 1,232 \$1,971 Meadow Lake \$4,872,720.00 2,501 \$1,948 Beaver River \$2,343,007.00 1,216 \$1,927 Lac Pelletier \$1,050,320.00 546 \$1,924 Big River \$1,701,187.00 889 \$1,914 Aberdeen \$2,606,766.00 1,379 \$1,890 Corman Park \$15,044,601.00 8,568 \$1,756 Birch Hills \$1,137,579.00 656 \$1,734 Edenwold \$7,772,900.00 4,490 \$1,731 Moose Jaw \$1,825,947.00 1,163 \$1,570 Lumsden \$2,892,587	Great Bend	\$1,142,335.00	509	\$2,244
Longlaketon \$2,215,623.00 1,016 \$2,181 Barrier Valley \$936,987.00 431 \$2,174 Nipawin \$2,168,750.00 1,004 \$2,160 Caron \$1,239,880.00 576 \$2,153 Shellbrook \$3,207,956.00 1,587 \$2,021 Lajord \$2,427,691.00 1,232 \$1,971 Meadow Lake \$4,872,720.00 2,501 \$1,948 Beaver River \$2,343,007.00 1,216 \$1,927 Lac Pelletier \$1,050,320.00 546 \$1,924 Big River \$1,701,187.00 889 \$1,914 Aberdeen \$2,606,766.00 1,379 \$1,890 Corman Park \$15,044,601.00 8,568 \$1,756 Birch Hills \$1,137,579.00 656 \$1,734 Edenwold \$7,772,900.00 4,490 \$1,331 Moose Jaw \$1,825,947.00 1,163 \$1,570 Lumsden \$2,892,587.00 1,938 \$1,493 Montrose \$1,035,025.00 <td>North Battleford</td> <td>\$1,583,945.00</td> <td>725</td> <td>\$2,185</td>	North Battleford	\$1,583,945.00	725	\$2,185
Barrier Valley \$936,987.00 431 \$2,174 Nipawin \$2,168,750.00 1,004 \$2,160 Caron \$1,239,880.00 576 \$2,153 Shellbrook \$3,207,956.00 1,587 \$2,021 Lajord \$2,427,691.00 1,232 \$1,971 Meadow Lake \$4,872,720.00 2,501 \$1,948 Beaver River \$2,343,007.00 1,216 \$1,927 Lac Pelletier \$1,050,320.00 546 \$1,924 Big River \$1,701,187.00 889 \$1,914 Aberdeen \$2,606,766.00 1,379 \$1,890 Corman Park \$15,044,601.00 8,568 \$1,756 Birch Hills \$1,137,579.00 656 \$1,734 Edenwold \$7,772,900.00 4,490 \$1,331 Moose Jaw \$1,825,947.00 1,163 \$1,570 Lumsden \$2,892,587.00 1,938 \$1,493 Montrose \$1,035,025.00 712 \$1,454 Swift Current \$2,790,353.00 <td>North Qu'Appelle</td> <td>\$1,864,774.00</td> <td>855</td> <td>\$2,181</td>	North Qu'Appelle	\$1,864,774.00	855	\$2,181
Nipawin \$2,168,750.00 1,004 \$2,160 Caron \$1,239,880.00 576 \$2,153 Shellbrook \$3,207,956.00 1,587 \$2,021 Lajord \$2,427,691.00 1,232 \$1,971 Meadow Lake \$4,872,720.00 2,501 \$1,948 Beaver River \$2,343,007.00 1,216 \$1,927 Lac Pelletier \$1,050,320.00 546 \$1,924 Big River \$1,701,187.00 889 \$1,914 Aberdeen \$2,606,766.00 1,379 \$1,890 Corman Park \$15,044,601.00 8,568 \$1,756 Birch Hills \$1,137,579.00 656 \$1,734 Edenwold \$7,772,900.00 4,490 \$1,731 Moose Jaw \$1,825,947.00 1,163 \$1,570 Lumsden \$2,892,587.00 1,938 \$1,493 Montrose \$1,035,025.00 712 \$1,454 Swift Current \$2,790,353.00 2,840 \$1,337 Dundurn \$3,101,341.00	Longlaketon	\$2,215,623.00	1,016	\$2,181
Caron \$1,239,880.00 576 \$2,153 Shellbrook \$3,207,956.00 1,587 \$2,021 Lajord \$2,427,691.00 1,232 \$1,971 Meadow Lake \$4,872,720.00 2,501 \$1,948 Beaver River \$2,343,007.00 1,216 \$1,927 Lac Pelletier \$1,050,320.00 546 \$1,924 Big River \$1,701,187.00 889 \$1,914 Aberdeen \$2,606,766.00 1,379 \$1,890 Corman Park \$15,044,601.00 8,568 \$1,756 Birch Hills \$1,137,579.00 656 \$1,734 Edenwold \$7,772,900.00 4,490 \$1,731 Moose Jaw \$1,825,947.00 1,163 \$1,570 Lumsden \$2,892,587.00 1,938 \$1,493 Montrose \$1,035,025.00 712 \$1,454 Swift Current \$2,790,353.00 1,932 \$1,444 Vanscoy \$3,796,683.00 2,840 \$1,337 Dundurn \$3,101,341.00	Barrier Valley	\$936,987.00	431	\$2,174
Shellbrook \$3,207,956.00 1,587 \$2,021 Lajord \$2,427,691.00 1,232 \$1,971 Meadow Lake \$4,872,720.00 2,501 \$1,948 Beaver River \$2,343,007.00 1,216 \$1,927 Lac Pelletier \$1,050,320.00 546 \$1,924 Big River \$1,701,187.00 889 \$1,914 Aberdeen \$2,606,766.00 1,379 \$1,890 Corman Park \$15,044,601.00 8,568 \$1,756 Birch Hills \$1,137,579.00 656 \$1,734 Edenwold \$7,772,900.00 4,490 \$1,731 Moose Jaw \$1,825,947.00 1,163 \$1,570 Lumsden \$2,892,587.00 1,938 \$1,493 Montrose \$1,035,025.00 712 \$1,454 Swift Current \$2,790,353.00 1,932 \$1,444 Vanscoy \$3,796,683.00 2,840 \$1,337 Dundurn \$3,101,341.00 2,404 \$1,290	Nipawin	\$2,168,750.00	1,004	\$2,160
Lajord \$2,427,691.00 1,232 \$1,971 Meadow Lake \$4,872,720.00 2,501 \$1,948 Beaver River \$2,343,007.00 1,216 \$1,927 Lac Pelletier \$1,050,320.00 546 \$1,924 Big River \$1,701,187.00 889 \$1,914 Aberdeen \$2,606,766.00 1,379 \$1,890 Corman Park \$15,044,601.00 8,568 \$1,756 Birch Hills \$1,137,579.00 656 \$1,734 Edenwold \$7,772,900.00 4,490 \$1,731 Moose Jaw \$1,825,947.00 1,163 \$1,570 Lumsden \$2,892,587.00 1,938 \$1,493 Montrose \$1,035,025.00 712 \$1,454 Swift Current \$2,790,353.00 1,932 \$1,444 Vanscoy \$3,796,683.00 2,840 \$1,337 Dundurn \$3,101,341.00 2,404 \$1,290	Caron	\$1,239,880.00	576	\$2,153
Meadow Lake \$4,872,720.00 2,501 \$1,948 Beaver River \$2,343,007.00 1,216 \$1,927 Lac Pelletier \$1,050,320.00 546 \$1,924 Big River \$1,701,187.00 889 \$1,914 Aberdeen \$2,606,766.00 1,379 \$1,890 Corman Park \$15,044,601.00 8,568 \$1,756 Birch Hills \$1,137,579.00 656 \$1,734 Edenwold \$7,772,900.00 4,490 \$1,731 Moose Jaw \$1,825,947.00 1,163 \$1,570 Lumsden \$2,892,587.00 1,938 \$1,493 Montrose \$1,035,025.00 712 \$1,454 Swift Current \$2,790,353.00 1,932 \$1,444 Vanscoy \$3,796,683.00 2,840 \$1,337 Dundurn \$3,101,341.00 2,404 \$1,290	Shellbrook	\$3,207,956.00	1,587	\$2,021
Beaver River \$2,343,007.00 1,216 \$1,927 Lac Pelletier \$1,050,320.00 546 \$1,924 Big River \$1,701,187.00 889 \$1,914 Aberdeen \$2,606,766.00 1,379 \$1,890 Corman Park \$15,044,601.00 8,568 \$1,756 Birch Hills \$1,137,579.00 656 \$1,734 Edenwold \$7,772,900.00 4,490 \$1,731 Moose Jaw \$1,825,947.00 1,163 \$1,570 Lumsden \$2,892,587.00 1,938 \$1,493 Montrose \$1,035,025.00 712 \$1,454 Swift Current \$2,790,353.00 1,932 \$1,444 Vanscoy \$3,796,683.00 2,840 \$1,337 Dundurn \$3,101,341.00 2,404 \$1,290	Lajord	\$2,427,691.00	1,232	\$1,971
Lac Pelletier \$1,050,320.00 546 \$1,924 Big River \$1,701,187.00 889 \$1,914 Aberdeen \$2,606,766.00 1,379 \$1,890 Corman Park \$15,044,601.00 8,568 \$1,756 Birch Hills \$1,137,579.00 656 \$1,734 Edenwold \$7,772,900.00 4,490 \$1,731 Moose Jaw \$1,825,947.00 1,163 \$1,570 Lumsden \$2,892,587.00 1,938 \$1,493 Montrose \$1,035,025.00 712 \$1,454 Swift Current \$2,790,353.00 1,932 \$1,444 Vanscoy \$3,796,683.00 2,840 \$1,337 Dundurn \$3,101,341.00 2,404 \$1,290	Meadow Lake	\$4,872,720.00	2,501	\$1,948
Big River \$1,701,187.00 889 \$1,914 Aberdeen \$2,606,766.00 1,379 \$1,890 Corman Park \$15,044,601.00 8,568 \$1,756 Birch Hills \$1,137,579.00 656 \$1,734 Edenwold \$7,772,900.00 4,490 \$1,731 Moose Jaw \$1,825,947.00 1,163 \$1,570 Lumsden \$2,892,587.00 1,938 \$1,493 Montrose \$1,035,025.00 712 \$1,454 Swift Current \$2,790,353.00 1,932 \$1,444 Vanscoy \$3,796,683.00 2,840 \$1,337 Dundurn \$3,101,341.00 2,404 \$1,290	Beaver River	\$2,343,007.00	1,216	\$1,927
Aberdeen \$2,606,766.00 1,379 \$1,890 Corman Park \$15,044,601.00 8,568 \$1,756 Birch Hills \$1,137,579.00 656 \$1,734 Edenwold \$7,772,900.00 4,490 \$1,731 Moose Jaw \$1,825,947.00 1,163 \$1,570 Lumsden \$2,892,587.00 1,938 \$1,493 Montrose \$1,035,025.00 712 \$1,454 Swift Current \$2,790,353.00 1,932 \$1,444 Vanscoy \$3,796,683.00 2,840 \$1,337 Dundurn \$3,101,341.00 2,404 \$1,290	Lac Pelletier	\$1,050,320.00	546	\$1,924
Corman Park \$15,044,601.00 8,568 \$1,756 Birch Hills \$1,137,579.00 656 \$1,734 Edenwold \$7,772,900.00 4,490 \$1,731 Moose Jaw \$1,825,947.00 1,163 \$1,570 Lumsden \$2,892,587.00 1,938 \$1,493 Montrose \$1,035,025.00 712 \$1,454 Swift Current \$2,790,353.00 1,932 \$1,444 Vanscoy \$3,796,683.00 2,840 \$1,337 Dundurn \$3,101,341.00 2,404 \$1,290	Big River	\$1,701,187.00	889	\$1,914
Birch Hills \$1,137,579.00 656 \$1,734 Edenwold \$7,772,900.00 4,490 \$1,731 Moose Jaw \$1,825,947.00 1,163 \$1,570 Lumsden \$2,892,587.00 1,938 \$1,493 Montrose \$1,035,025.00 712 \$1,454 Swift Current \$2,790,353.00 1,932 \$1,444 Vanscoy \$3,796,683.00 2,840 \$1,337 Dundurn \$3,101,341.00 2,404 \$1,290	Aberdeen	\$2,606,766.00	1,379	\$1,890
Edenwold \$7,772,900.00 4,490 \$1,731 Moose Jaw \$1,825,947.00 1,163 \$1,570 Lumsden \$2,892,587.00 1,938 \$1,493 Montrose \$1,035,025.00 712 \$1,454 Swift Current \$2,790,353.00 1,932 \$1,444 Vanscoy \$3,796,683.00 2,840 \$1,337 Dundurn \$3,101,341.00 2,404 \$1,290	Corman Park	\$15,044,601.00	8,568	\$1,756
Moose Jaw \$1,825,947.00 1,163 \$1,570 Lumsden \$2,892,587.00 1,938 \$1,493 Montrose \$1,035,025.00 712 \$1,454 Swift Current \$2,790,353.00 1,932 \$1,444 Vanscoy \$3,796,683.00 2,840 \$1,337 Dundurn \$3,101,341.00 2,404 \$1,290	Birch Hills	\$1,137,579.00	656	\$1,734
Lumsden \$2,892,587.00 1,938 \$1,493 Montrose \$1,035,025.00 712 \$1,454 Swift Current \$2,790,353.00 1,932 \$1,444 Vanscoy \$3,796,683.00 2,840 \$1,337 Dundurn \$3,101,341.00 2,404 \$1,290	Edenwold	\$7,772,900.00	4,490	\$1,731
Montrose \$1,035,025.00 712 \$1,454 Swift Current \$2,790,353.00 1,932 \$1,444 Vanscoy \$3,796,683.00 2,840 \$1,337 Dundurn \$3,101,341.00 2,404 \$1,290	Moose Jaw	\$1,825,947.00	1,163	\$1,570
Swift Current \$2,790,353.00 1,932 \$1,444 Vanscoy \$3,796,683.00 2,840 \$1,337 Dundurn \$3,101,341.00 2,404 \$1,290	Lumsden	\$2,892,587.00	1,938	\$1,493
Vanscoy \$3,796,683.00 2,840 \$1,337 Dundurn \$3,101,341.00 2,404 \$1,290	Montrose	\$1,035,025.00	712	\$1,454
Dundurn \$3,101,341.00 2,404 \$1,290	Swift Current	\$2,790,353.00	1,932	\$1,444
	Vanscoy	\$3,796,683.00	2,840	\$1,337
Laird \$1,780,596.00 1,387 \$1,284	Dundurn	\$3,101,341.00	2,404	\$1,290
	Laird	\$1,780,596.00	1,387	\$1,284
Cana \$1,074,681.00 867 \$1,240	Cana	\$1,074,681.00	867	\$1,240
South Qu'Appelle \$1,544,300.00 1,275 \$1,211	South Qu'Appelle	\$1,544,300.00	1,275	\$1,211

Rural Municipalities 2018 Continued			
Prince Albert	\$4,182,624.00	3,562	\$1,174
Duck Lake	\$1,027,272.00	1,004	\$1,023
Rosthern	\$2,306,660.00	2,300	\$1,003
Lake Lenore	\$434,475.00	587	\$740
		Avg:	\$4,278

Rural Municipalities 2019			
Rural Municipality	Total expenses	Population	Spending per person
Heart's Hill	\$4,352,488.00	244	\$17,838
Oakdale	\$4,372,832.00	253	\$17,284
Browning	\$4,315,139.00	375	\$11,507
Turtle River	\$3,825,580.00	344	\$11,121
Eldon	\$8,162,231.00	750	\$10,883
Brock	\$2,903,347.00	267	\$10,874
Senlac	\$2,300,941.00	216	\$10,653
Tecumseh	\$2,736,233.00	271	\$10,097
Wilton	\$15,931,737.00	1,629	\$9,780
Antelope Park	\$1,265,280.00	130	\$9,733
Lomond	\$2,711,599.00	296	\$9,161
Gull Lake	\$1,827,317.00	201	\$9,091
Cymri	\$4,845,238.00	549	\$8,826
Reciprocity	\$2,860,315.00	344	\$8,315
Leroy	\$4,169,032.00	502	\$8,305
Souris Valley	\$2,043,410.00	249	\$8,206
Happyland	\$2,041,335.00	249	\$8,198
Milton	\$2,077,244.00	266	\$7,809
Winslow	\$2,665,981.00	344	\$7,750
Filmore	\$1,714,656.00	223	\$7,689
Cambria	\$2,325,221.00	309	\$7,525
Manitou Lake	\$4,250,700.00	573	\$7,418
Hillsdale	\$4,059,957.00	553	\$7,342
Coalfields	\$2,649,147.00	368	\$7,199
Spy Hill	\$2,308,203.00	323	\$7,146
Sherwood	\$6,750,429.00	974	\$6,931
White Valley	\$3,205,162.00	478	\$6,705



Rural M	unicipalities 2019 C	ontinued	
Moose Creek	\$2,522,506.00	379	\$6,656
Craik	\$1,676,775.00	259	\$6,474
Kindersley	\$6,671,740.00	1,049	\$6,360
Maryfield	\$2,045,844.00	324	\$6,314
Monet	\$2,669,560.00	446	\$5,986
Arlington	\$2,107,914.00	366	\$5,759
Storthoaks	\$1,651,444.00	292	\$5,656
Dufferin	\$3,133,228.00	559	\$5,605
Harris	\$1,045,838.00	193	\$5,419
Chesterfield	\$2,601,737.00	481	\$5,409
Lacadena	\$2,849,472.00	535	\$5,326
Enniskillen	\$2,417,888.00	459	\$5,268
Fox Valley	\$1,732,636.00	330	\$5,250
Silverwood	\$2,131,701.00	410	\$5,199
Arm River	\$1,299,309.00	250	\$5,197
Pense	\$2,634,451.00	508	\$5,186
Big Arm	\$985,406.00	191	\$5,159
Laurier	\$1,508,294.00	296	\$5,096
Fertile Belt	\$3,901,214.00	781	\$4,995
Golden West	\$1,452,493.00	291	\$4,991
Last Mountain Valley	\$1,362,395.00	275	\$4,954
Mervin	\$6,140,701.00	1,256	\$4,889
Martin	\$1,407,028.00	289	\$4,869
Buffalo	\$2,458,165.00	506	\$4,858
Glen Bain	\$868,648.00	180	\$4,826
Benson	\$2,242,015.00	472	\$4,750
Mount Pleasant	\$1,948,568.00	414	\$4,707
Reford	\$1,206,229.00	257	\$4,693
Brittania	\$10,019,782.00	2,153	\$4,654
Willner	\$1,167,695.00	255	\$4,579
Indian Head	\$1,520,087.00	336	\$4,524
Lake Johnston	\$756,327.00	170	\$4,449
Frenchman Butte	\$6,323,372.00	1,494	\$4,233
Canaan	\$585,634.00	140	\$4,183
McKillop	\$3,050,058.00	732	\$4,167
Blaine Lake	\$1,191,998.00	291	\$4,096
Hoodoo	\$2,733,328.00	675	\$4,049
Viscount	\$1,368,198.00	338	\$4,048
King George	\$914,664.00	226	\$4,047
Kelvington	\$1,609,805.00	398	\$4,045

Rural M	unicipalities 2019 Co	ontinued	
			62.007
Glenside	\$991,360.00	248	\$3,997
Stonehenge Caledonia	\$1,484,926.00 \$956,583.00	380 245	\$3,908
			\$3,904
Lake of the Rivers	\$1,076,127.00	279	\$3,857
Bayne	\$1,790,365.00	467	\$3,834
Miry Creek	\$1,403,225.00	370	\$3,793
Pleasant Valley	\$1,138,089.00	302	\$3,769
Milden	\$1,231,586.00	327	\$3,766
Invergordon	\$2,114,194.00	565	\$3,742
Cut Knife	\$1,353,703.00	364	\$3,719
Clayton	\$2,201,426.00	592	\$3,719
Lakeview	\$1,362,958.00	368	\$3,704
Lonetree	\$554,556.00	150	\$3,697
Meeting Lake	\$1,174,016.00	319	\$3,680
Webb	\$1,979,881.00	541	\$3,660
Keys	\$1,423,161.00	390	\$3,649
Rosemount	\$722,250.00	201	\$3,593
Kinistino	\$1,950,245.00	554	\$3,520
Colonsay	\$945,081.00	269	\$3,513
Rosedale	\$1,836,733.00	526	\$3,492
Connaught	\$2,040,823.00	586	\$3,483
Fish Creek	\$1,200,613.00	345	\$3,480
District of Lakeland	\$3,165,663.00	915	\$3,460
Leask	\$2,333,460.00	686	\$3,402
Meota	\$3,146,346.00	933	\$3,372
Wolverine	\$1,569,530.00	480	\$3,270
Calder	\$1,182,604.00	370	\$3,196
Saskatchewan Landing	\$1,326,240.00	415	\$3,196
Moose Range	\$3,190,797.00	1,000	\$3,191
Douglas	\$1,115,911.00	350	\$3,188
Moosomin	\$1,913,067.00	603	\$3,173
Gravelbourg	\$1,159,886.00	372	\$3,118
Lipton	\$1,187,731.00	381	\$3,117
Victory	\$1,182,700.00	380	\$3,112
Estevan	\$4,213,793.00	1,370	\$3,076
Wellington	\$1,098,933.00	371	\$2,962
Montmarte	\$1,407,123.00	483	\$2,913
Rudy	\$1,330,775.00	466	\$2,856
Francis	\$1,921,968.00	674	\$2,852
Loon Lake	\$2,127,009.00	756	\$2,814



Rural M	unicipalities 2019 Co	ontinued	
Auvergne	\$1,158,773.00	412	\$2,813
Canwood	\$3,864,580.00	1,381	\$2,798
Wise Creek	\$572,796.00	205	\$2,794
Elcapo	\$1,341,147.00	488	\$2,748
Mariott	\$1,001,071.00	366	\$2,735
Pleasantdale	\$1,605,081.00	596	\$2,693
Good Lake	\$1,975,796.00	747	\$2,645
Stanley	\$1,331,273.00	505	\$2,636
McLeod	\$952,615.00	365	\$2,610
Great Bend	\$1,300,952.00	509	\$2,556
Weyburn	\$2,718,125.00	1,064	\$2,555
St. Louis	\$2,745,678.00	1,086	\$2,528
North Battleford	\$1,801,070.00	725	\$2,484
Nipawin	\$2,484,776.00	1,004	\$2,475
Spiritwood	\$3,205,180.00	1,306	\$2,454
Grandview	\$847,716.00	348	\$2,436
Barrier Valley	\$1,045,965.00	431	\$2,427
Caron	\$1,371,615.00	576	\$2,381
Bjorkdale	\$1,970,572.00	851	\$2,316
Paddockwood	\$2,066,451.00	900	\$2,296
Lac Pelletier	\$1,223,517.00	546	\$2,241
Longlaketon	\$2,146,195.00	1,016	\$2,112
Birch Hills	\$1,367,417.00	656	\$2,084
Beaver River	\$2,494,048.00	1,216	\$2,051
Corman Park	\$16,213,128.00	8,568	\$1,892
Big River	\$1,673,742.00	889	\$1,883
Moose Jaw	\$2,187,714.00	1,163	\$1,881
Edenwold	\$8,180,734.00	4,490	\$1,822
Laird	\$2,452,483.00	1,387	\$1,768
Lumsden	\$3,261,527.00	1,938	\$1,683
Montrose	\$1,156,772.00	712	\$1,625
Meadow Lake	\$4,048,563.00	2,501	\$1,619
Aberdeen	\$2,079,001.00	1,379	\$1,508
Swift Current	\$2,657,124.00	1,932	\$1,375
Cana	\$1,153,847.00	867	\$1,331
South Qu'Appelle	\$1,572,793.00	1,275	\$1,234
Duck Lake	\$1,132,595.00	1,004	\$1,128
Dundurn	\$2,605,560.00	2,404	\$1,084
Lake Lenore	\$490,971.00	587	\$836
		Avg:	\$4,621

Resort Villages 2017		
Resort Village	Total expenses	
District of Katepwa	\$1,092,354	
Shields	\$574,174	
Kannata Valley	\$572,232	
Aquadeo	\$564,354	
Tobin Lake	\$534,999	
B-say-tah	\$431,964	
Thode	\$378,072	
Mistusinne	\$275,439	
Beaver Flat	\$263,257	
Fort San	\$231,106	
North Grove	\$228,708	
Wakaw Lake	\$226,844	
Glen Harbour	\$130,406	
Alice Beach	\$127,618	
Coteau Beach	\$123,713	
Metinota	\$116,469	
Lumsden Beach	\$92,163	
Big Shell	\$76,205	
Pelican Pointe	\$53,756	
Sunset Cove	\$52,808	

Resort Villages 2018	
Resort Village	Total expenses
Candle Lake	\$2,393,189
Cochin	\$1,036,963
District of Katepwa	\$810,233
Shields	\$620,217
Tobin Lake	\$548,408
Aquadeo	\$505,949
Kannata Valley	\$439,166
Thode	\$425,539
B-say-tah	\$360,050
Mistusinne	\$259,759
Kivimaa-Moonlight Bay	\$255,416
North Grove	\$230,976
Wakaw Lake	\$230,342



Resort Villages 2018 Continued	
Fort San	\$195,332
Coteau Beach	\$167,067
Glen Harbour	\$145,309
Metinota	\$138,338
Lumsden Beach	\$137,532
Alice Beach	\$125,844
Wee Too Beach	\$109,861
Melville Beach	\$107,764
Big Shell	\$73,821
Sunset Cove	\$48,154
Pelican Pointe	\$46,825

Resort Villages 2019	
Resort Village	Total expenses
Candle Lake	\$2,865,691
District of Katepwa	\$1,475,963
Cochin	\$1,061,963
Shields	\$678,099
Aquadeo	\$532,073
Tobin Lake	\$479,970
Thode	\$460,241
B-say-tah	\$418,694
Kannata Valley	\$295,006
Wakaw Lake	\$248,895
Kivimaa-Moonlight Bay	\$246,876
North Grove	\$235,613
Mistusinne	\$230,398
Coteau Beach	\$181,097
Alice Beach	\$161,742
Glen Harbour	\$149,506
Metinota	\$135,316
Lumsden Beach	\$101,519
Wee Too Beach	\$96,053
Melville Beach	\$85,466
Big Shell	\$79,085
Pelican Pointe	\$73,325
Sunset Cove	\$50,757